
  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2019. 

Third Year 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  Explain the different types of costing. 

 AhUPÂø»U PnUS •øÓ°ß ÁøPPøÍ ÂÁ›. 

2.  Write a note on: Operating costing. 

 ]Ö SÔ¨¦ ÁøμP: ö\¯À ÁøP AhUPÂø». 

3. Write short notes on: Cost plus contract and cost 

control. 

 ]Ö SÔ¨¦: ÁøμP AhUPÂø» TkuÀ J¨£¢u 

öuõøP ©ØÖ® AhUPÂø» Pmk¨£õk. 

 UG-206 BCO-31
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4.  The following data, relating to a factory for the 
year 2000 are available. 

 Rs. 
Materials consumed 2,00,000
Direct wages 1,50,000
Factory expenses 90,000
Administrative expenses 88,000

 Based on the above data, find out the cost of a job 
to be done in January 2001. 

 Materials required Rs. 20,000; Wages for the Job 
Rs. 15,000. What price will be quoted for the job, if 
A profit at 20% on selling price is required? 

 RÌUPsh  Â£μ[PÒ J¸ öuõÈØThzvß 2000 

BÁx Á¸hzv¯ ¦ÒÎ Â£μ[PÎÀ C¸¢x öu›¯ 

Á¸QÓx. 

 ¹. 

£¯ß£kzv¯ ‰»¨ö£õ¸Ò 2,00,000

÷|μi T¼PÒ 1,50,000

öuõÈØTha ö\»ÄPÒ 90,000

{ºÁõPa ö\»ÄPÒ 88,000

 ÷©ØPsh ¦ÒÎ Â£μ[PÎÀ C¸¢x, áÚÁ› 2001 

CÀ ö\´¯ ÷Ási¯ J¸ £o°ß AhUPÂø» 

Psk¤i. ‰»¨ö£õ¸Ò ÷uøÁ ¹. 20,000. T¼, 

Gvº£õºUS® £oUS ¹. 15,000 ÂØ£øÚ Âø»°À 

20% »õ£® Qmh ÷Ásk® GßÓõÀ A¢u¨ £o°ß 

ÂØ£øÚ Âø» GßÚÁõP C¸US®?  
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5. From the information given below, determine 

break even pint in units. 

 Rs. 

Selling price per unit 16.50

Trading discount per unit 1.50

Fixed expenses (aggregate) 7,50,000

Variable expenses (per unit) 11.00

Units of production 3,00,000 units

 RÌUPsh uPÁÀPÎ¼¸¢x »õ£ |mhªÀ»õ 

{ø»¨¦ÒÎ PnUøP (A»SPÎÀ) PnUQkP. 

 ¹. 

ÂØ£øÚ Âø» (J¸ A»S) 16.50

Â¯õ£õμU PÈÄ (J¸ A»S) 1.50

{ø»¯õÚ ö\»ÄPÒ (ö©õzu®) 7,50,000

©õÖ® ö\»ÄPÒ (J¸ A»S) 11.00

EØ£zv A»SPÒ 3,00,000 
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PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. A company has four departments, the following 
are the expenses for the departments. 

 Rs.  Rs. 

Rent 1,000 Supervision 1,500

Repairs 600 Insurance of plant 500

Depreciation 450 Employee’s insurance 150

Light 100 Power 900

 The following data are also available. 

 A B C D 

Area (sq.ft) 75 55 45 25 

Total wages in Rs. 4,000 3,000 2,000 1,000

No. of workers 12 8 6 4 

Value of plant Rs. 12,000 9,000 6,000 3,000

 Prepare a statement showing the apportionment 
of cost to the various departments. Also calculated 
the departmental rates of recovery as % of direct 
wages. 
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J¸ {Ö©® |õßS xøÓPøÍU öPõshx. 

AzxøÓPÐUPõÚ ö\»ÄPÒ ¤ßÁ¸©õÖ. 

 ¹.  ¹. 

ÁõhøP 1,000 ÷©Ø£õºøÁ 1,500

£Êx£õºzuÀ 600 C¯¢vμ[PÐUPõÚ Põ¨¥k 500

÷u´©õÚ® 450 £o¯õÍº Põ¨¥k 150

ÂÍUP ö\»Ä 100 ªß ö\»Ä 900

RÌUPsh ÂÁμ[PÐ® EÒÍx. 

 A B C D 

Ch AÍÄ (\. Ai) 75 55 45 25 

ö©õzuU T¼ (¹.) 4,000 3,000 2,000 1,000

öuõÈ»õÍº GsoUøP 12 8 6 4 

C¯¢vμ[PÒ ©v¨¦ (¹.) 12,000 9,000 6,000 3,000

£» xøÓPÐUS® ö\»ÄPøÍ £QºÄ ö\´x AÔUøP 

u¯õ›UPÄ®. ÷|μiU T¼°ß \uÂQuzvÀ, 

÷©Øö\»ÄPÎß ÂQuzøuU Psk¤i. 

7. What is meant by Normal loss and abnormal loss 
in process costing?  

 £i{ø» AhUPÂø»°À \õuõμn |mh® ©ØÖ® 

A\õuõμn |mh® GßÓõÀ GßÚ? 
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8. Mr. “S” is the owner of fleet of taxis and the 
following information are available from the 
records. 

 Rs. 

Number of taxis 10 

Cost of each Taxi 2,00,000 

Salary of Manager 6,000 p.m. 

Salary of accountant 5,000 p.m. 

Salary of cleaner 2,000 p.m. 

Salary of mechanic 4,000 p.m. 

Garage Rent 6,000 p.m. 

Insurance premium 5.1 per annum 

Annual tax 6,000 per taxi 

Drives salary 2,000 p.m. per taxi

Annul Repair 10,000 per taxi 

 Total life of a taxi is 2,00,000 KMS. A taxi runs in 
all 3,000 KMS in a month of which 30%. It runs 
empty. Petron consumption is one litre for 10 KMS 
at Rs. 30 per litre. Oil and other expenses are  
Rs. 50 per 100 k.m. 

 Calculate the cost of running a taxi per K.M. 
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S Gß£Áº ^¸¢xPÎß E›ø©¯õÍº. AÁμx 

£v÷ÁkPÎÀ C¸¢x RÌUPsh Â£μ[PÒ öu›¯ 

Á¸QßÓÚ. 

 ¹. 

]ØÖ¢x GsoUøP 10 

J¸ ]ØÖ¢vß AhUP Âø» 2,00,000 

÷©»õÍº ©õua \®£Í® 6,000  

PnUPõÍº ©õua \®£Í® 5,000  

_zu¨£kzx£Áº ©õua \®£Í® 2,000  

P¸Â £Êx£õº¨£Áº ©õua \®£Í® 4,000  

{Özxªh® ÁõhøP ©õu® 6,000  

Põ¨¥mkU Pmhn® ©v¨¤À 5.% JμõsiØS 

BskÁ› 6,000 J¸ ]ØÖ¢x 

JmkÚº \®£Í® ©õu® 2,000 J¸ ]ØÖ¢x 

BsiØUS £Êx£õºzuÀ 10,000 J¸ ]ØÖ¢x

J¸ ]ØÖ¢x B²mPõ»® 2,00,000 Q÷»õ «mhºPÒ. 

J¸ ]ØÖ¢x ©õuzvØS 3000 Q÷»õ «mhºPÒ Jk® 

Av÷» 30 \uÃu® Põ¼¯õP JkQßÓx. 10 Q÷»õ 

«mhºUS J¸ ¼mhº ö£m÷μõÀ ö\»ÁõQÓx. 

ö£m÷μõÀ J¸ ¼mhº ¹, 30. B°À ©ØÖ® Cuμa 

ö\»ÄPÒ 100 Q÷»õ «mh¸US ¹. 50BP 

PnUQh¨£mkÒÍx. J¸ Q÷»õ «mhº ]ØÖ¢x Jk® 

AhUPÂø»ø¯U PnUQk. 
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9. The fixed cost per month is a factory is Rs. 50,000. 

The contribution per unit is Rs. 50 for product  A 

and Rs. 25 for B. Which of the following product 

mixed is most yielding. 

 (a) 800 A and 1,000 B; 

 (b) 1,500 A only 

 (c) 3,000 B only 

 (d) 1,200 A and 400 B. 

 {ø»a ö\»Ä ¹. 50,000 BQÓx. J¸ 

öuõÈØ\õø»°À EØ£zv¨ ö£õ¸Ò A ¹. 50® ©ØÖ® 

B ¹. 25® £[PÎ¨¦ u¸® GßÖ öPõsk R÷Ç 

uμ¨£mkÒÍ EØ£zvU P»øÁPÎÀ Gx AvP »õ£® 

u¸® Gß£øuU PõsP. 

 (A) 800 A ©ØÖ® 1,000 B; 

 (B) 1,500 A ©mk® 

 (C) 3,000 B ©mk® 

 (D) 1,200 A ©ØÖ® 400 B. 
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10. Product X is obtained after passing through three 
distinct processes. Prepare process accounts from 
the following information. 

Processes 
 I 

Rs. 
II 

Rs. 
III 
Rs. 

Materials 5,200 3,960 5,924

Direct wages 4,000 6,000 8,000

 Production overheads Rs. 18,000 

 Is process I 1,000 units were introduced from  
Rs. 6,000 production overheads to be distributed 
as 100% on wages. 

 Actual output 
Units 

Normal loss
Loss 

Scrap value 
per unit 

Process I 950 5% 4 

Process II 840 10% 8 

Process III 750 15% 10 

 ö£õ¸Ò X ‰ßÖ uÛzuÛ ö\´•øÓPøÍ Ph¢u¤ß 

ö£Ó¨£kQÓx. RÌUPsh uPÁÀPÎ¼¸¢x 

ö\´•øÓ PnUSPøÍ u¯õ›UPÄ®. 

ö\´•øÓ 

 I 
¹. 

II 

¹. 

III 

¹. 

ö£õ¸mPÒ 5,200 3,960 5,924

÷|μiU T¼ 4,000 6,000 8,000
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 EØ£zv ö\»ÄPÒ ¹. 18,000 

 ö\´•øÓ I&À 1000 A»SPÒ ¹. 6000&US 

öuõh[P¨£kQßÓÚ. EØ£zv ÷©Øö\»ÄPÒ ÷|μiU 

T¼°À 100% £Qº¢x öPõÒP. 

 Esø©¯õÚ 

EØ£zv 

A»SPÒ 

\õuõμn 

|mh® 

A»S JßÖUS 

Ga\¨ 

ö£õ¸Îß 

©v¨¦ 

ö\´•øÓ 

I 

950 5% 4 

ö\´•øÓ 

II 

840 10% 8 

ö\´•øÓ 

III 

750 15% 10 

11. In a factory two types of ceiling fans viz., ‘USHA’ 
and “Crompton’ are produced ascertain the  cost 
and profit per unit sold from the particulars given 
below: 

 Usha Crompton

Materials 16,400 18,900 

Wages 8,900 9,800 
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  Works overhead is 60% of wages and office 
overheads 20% on works cost. The selling expenses 
per fan sold is Rs. 2. The selling price of Usha and 
Crompton are Rs. 550 and Rs. 800 respectively. 80 
fans of Usha and 100 fans of Crompton are sold. 
There is not opening or closing stock. 

J¸ öuõÈØ\õø»°À “Eåõ” ©ØÖ® “Qμõ®¨hß” 

GÝ® C¸ÁøP Ea] ªß Â]ÔPÒ EØ£zv 

ö\´¯¨£kQßÓÚ. RÌUPsh ÂÁμ[PÎ¼¸¢x J¸ 

Â]Ô°ß AhUPÂø» ©ØÖ® C»õ£zvøÚU 

PnUQkP. 

 Eåõ 

¹. 

Qμõ®¨hß

¹. 

‰»¨ö£õ¸mPÒ 16,400 18,900 

T¼ 8,900 9,800 

 Bø» ÷©Øö\»Ä. T¼°À 60% A¾Á»P ÷©Øö\»Ä 

Bø» AhUPÂø»°À 20% ÂØ£øÚa ö\»ÄPÒ 

ÂØÓ ªßÂ]Ô JßÖUS ¹. 2 BS® Eåõ ©ØÖ® 

Qμõ®hß Â]ÔPÎß ÂØ£øÚ Âø»PÒ •øÓ÷¯  

¹, 550 ©ØÖ® ¹. 800 BS®. Eåõ Â]ÔPÒ 80®, 

Qμõ®¨hß Â]ÔPÒ 100&® ÂØP¨£mhx. öuõhUP® 

©ØÖ® CÖva \μUQ¸¨¦PÒ  HxªÀø». 
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12. From the following data, calculate the B.E.P. 
 Rs.
Selling price per unit 200
Direct materials cost per unit 80 
Direct labour cost per unit 20 
Direct expenses per unit 20 
Overhead per unit 30 
Fixed overheads total Rs. 2,00,000  

 If sales are 20% above the B.E.P., determine the 
net profit. 

 R÷Ç uμ¨£mkÒÍ Â£μ[PÎ¼¸¢x »õ£ |mh©ØÓ 

{ø»¨¦ÒÎø¯ Psk¤i. 

 ¹.

ÂØ£øÚ Âø» Jº A»QØS 200

÷|μi Pa\õ¨ ö£õ¸Ò Jº A»QØS 80

÷|μi T¼ Jº A»QØS 20

÷|μø ö\»ÄPÒ Jº A»QØS 20

÷©Ø ö\»ÄPÒ Jº A»QØS 30

©õÓõa ö\»ÄPÒ ö©õzu® ¹ 2,00,000  

 ÷©¾® ÂØ£øÚ 20 \uÃu® »õ£ |mh©ØÓ 

{ø»¨¦ÒÎ {ø»ø¯Âh AvP©õP C¸US® ÷£õx 

{Pμ»õ£® PnUQkP. 

  

––––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

Computer Applications 

COMMERCIAL LAW AND INDUSTRIAL LAW 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What do you understand by “Arbitration’’? 

 |kÁº Ehß£õk Gß£x £ØÔ }Âº AÔÁx ¯õx? 

2. What is meant by indemnity? Explain its kinds. 

 DmkÖv ^mk GßÓõÀ GßÚ? Auß ÁøPPøÍ 

ÂÁ›UP. 

3. Distinction between a sale and a Hire—Purchase 
Agreement. 

 ÂØ£øÚUS®, ÁõhøP öPõÒ•uÀ •øÓUS® EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

 UG–207 BBCA–32/
  BCO–32
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4. What are the provisions in the Factories Act 1948 
for protection against fire and safety of Buildings. 

 C¢v¯ öuõÈØ\õø»a \mh® 1948 £i, öuõÈØ\õø» 

Pmihzvß w ©ØÖ® £õxPõ¨¦ \®£¢u©õP EÒÍ 

ÂvPÒ ¯õøÁ? 

5. What are the main objectives of the Industrial 
Disputes Act 1947? 

 C¢v¯ öuõÈÀ uPμõÖ \mh®&1947&ß •UQ¯ 

÷|õUP[PÒ ¯õøÁ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Differentiate Bailment and Pledge. 

 J¨£øhÄ ©ØÖ® AhS CÁØÔØS Cøh÷¯ EÒÍ 

Âzv¯õ\[PøÍ ÂÁ›UP. 

7. What is “Caveat Emptor”? What are its 
Exceptions? 

 “Áõ[S÷Áõ÷μ ÂÈzv¸” GßÓõÀ GßÚ? Auß 

ÂvÂ»USPÒ ÂÁ›UP. 

8. What are the rights and duties of Seller and 
Buyer? 

 ÂØ£Áº ©ØÖ® Áõ[S£Áº BQ÷¯õ›ß E›ø©PÒ 

©ØÖ® Phø©PÒ ÂÁ›UPÄ®. 
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9. What do you mean by Agency? What are the 
essentials for a valid Agency? 

 •Pø© GßÓõÀ GßÚ? J¸ ö\À»z uS¢u •Pø©°ß 

TÖPÒ ¯õøÁ? 

10. Explain the provision of the Industrial Dispute 
Act 1947, relating to Unfair Labour. Practice. 

 C¢v¯ öuõÈÀ uPμõÖ \mh® 1947 ß £i & {¯õ¯©ØÓ 

ÁºzuP |øh•øÓPÒ&CÁØÔß TÖPøÍ ÂÍUSP. 

11. State the provisions of the factories Act, 1948 with 
regard to Health, Safety and Welfare of the 
workers.  

 öuõÈØ\õø» \mh® & 1948 ß £i _Põuõμ®, £õxPõ¨¦ 

©ØÖ® ö£õx |»® CøÁPÒ \®£¢u©õÚ 

Âv•øÓPøÍ ÂÍUSP. 

12. Explain the measures are taken to prohibition of 
Lay Off in Industrial Disputes Act 1947. 

 C¢v¯ öuõÈÀ uPμõÖ \mh® 1947&ß £i ÷Áø» }UP 

uøh \®£¢u©õP GkUP¨£mh |øh•øÓPøÍ 

ÂÍUSP. 

––––––––––––– 



  

 

 

B.Com. (Corporate Secretaryship) DEGREE 
EXAMINATION — JUNE, 2019. 

Third Year 

Paper XI – ADVANCED ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

1. What is profit sharing ratio? 

 C»õ£ |mh¨ £QºÄ ÂQu®  GßÓõÀ GßÚ? 

2. What is Good will? 

 {ÖÁÚ |Øö£¯º  GßÓõÀ GßÚ? 

3. Discuss Absorption. 

 {Ö© J¸[QønzuÀ £ØÔ ÂÁõvUP. 

4. What is banking? 

 Á[Q°¯À  GßÓõÀ GßÚ? 

 UG–208 BCO-33
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5. Discuss Royalty. 

 Cμõ¯Ài GÚ¨£k® E›ø© öPõkUP¨£k® £[S 

£ØÔ ÂÁõvUP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. The following is the balance sheet of R and S as on 
31-12-2013. 

Liabilities Rs. Assets Rs. 

Capital :  Cash 11,500

R 70,000 Debtors 19,000

S 48,000 Stock 46,000

Reserves 20,000 Machinery 92,000

Creditors 48,000 Profit and loss a/c 17,500

 1,86,000  1,86,000

 The firm was dissolved on 31.12.2013 and the 
following was the result: 

 (a) The asset realized the following: Stock  
Rs. 45,000; Debtors Rs. 18,500; Machinery 
Rs. 89,500 

 (b) Expenses on realization Rs. 1,100 

 (c) The sundry creditors were paid in full. R and 
S share profits in the ratio of 3:2.  

  Prepare the necessary accounts. 
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 TmhõÎPÒ R ©ØÖ® S Gß£ÁºPÎß C¸¨¦ {ø»U 

SÔ¨¦ 31–12-013 B® ÷uv°h¨£mhx. R÷Ç 

öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ® :  öμõUP® 11,500

R 70,000 PhÚõÎPÒ 19,000

S 48,000 \μUQ¸¨¦ 46,000
Põ¨¦ 20,000 C¯¢vμ® 92,000
PhÜ¢÷uõºPÒ 48,000 C»õ£|mhU P/S 17,500

 1,86,000  1,86,000

 C¢uU Tmhõsø© {ÖÁÚ® 31–12–2013 B® 

÷uv¯ßÖ Pø»UP¨£kQÓx. A¢u |õÎÀ 

RÌUPshÁõÖ uPÁÀPÒ AÔ¯¨£kQÓx. 

 (A) ö\õzxUPÒ RÌUPshÁõÖ ©v¨¤h¨£kQÓx 

  \μUQ¸¨¦ ¹. 45,000; PhÚõÎPÒ ¹.18,500; 

C¯¢vμ® ¹. 89,500 

 (B) ö\õzxPÒ ÂØ£øÚ ö\´ÁvÀ BÚ ö\»ÄPÒ 

¹. 1,100 

 (C) PhÜ¢÷uõºPÐUS •Ê¨ £nÊ® 

öPõkUP¨£kQÓx. R ©ØÖ® S TmhõÎPÐUS 

3 :2 GßÓ ÂQuõ\õμ Ai¨£øh°À C»õ£ 

|mh® £[Qh¨£kQÓx. ÷uøÁ¯õÚ 

PnUSPøÍ u¯õº ö\´P. 
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7. Arul Ltd issues Rs. 1,000, 15%, 5,000 1st mortgage 
debentures on which the amount payable is  
Rs. 200 on application, Rs. 300 on allotment and 
the balance in one call. Prepare necessary journal 
entries. 

 A¸Ò {Ö©® 5000 PhÜmk £zvμ[PøÍ 

öÁÎ°kQÓx. A¢u PhÜmk¨ £zvμ[PÒ 15% Ámi 

ö£ÖQÓx. Auß •P©v¨¦ ¹. 1,000 BS®. 

Âsn¨£zvß ÷£õx ¹. 200 ® JxURk ö\´²® 

÷£õx ¹. 300 ® «u® öuõøPø¯ AøÇ¨¤ß ÷£õx® 

öPõkUP ÷Ásk® C¢u PhÜmk¨ £zvμ[PÒ 

•u»õÁx Ah©õÚ £zvμ[PÍõS® ÷uøÁ¯õÚ •uÀ 

£vÄPøÍ GÊxP.(journal entries). 

8. Calculate the amount of goodwill at three year’s 
purchase of last five year’s average profits. The 
profits were I year–Rs.9,600; II year Rs.14,400;  
III year-Rs. 20,000; IV year-Rs. 6,000; V year- 
Rs. 10,000. 

 J¸ {ÖÁÚzvß C»õ£® R÷Ç öPõkUP¨£kQÓx. 

 •u»õ® Bsk  ¹. 9,600 

 Cμshõ® Bsk ¹. 14,400 

 ‰ßÓõ® Bsk – ¹. 20,000 

 |õßPõ® Bsk – ¹. 6,000 

 I¢uõ® Bsk – ¹. 10,000. 

 ÷©ØPsh uPÁÀPÒ ‰»® ‰ßÓõsk öPõÒ•uÀ 

•øÓ°À {ÖÁÚ |Øö£¯º ©v¨¤øÚ 

Psi¤iUPÄ®. 
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9. Explain the order of payments and preferential 
payments in liquidation. 

 {Ö©U Pø»¨¤ß  ÷£õx öPõkUP ÷Ási¯ 

£nzvøÚ •ßÝ›ø© Ai¨£øh°À ¯õº ¯õ¸US 

G¨£iU öPõkUP ÷Ásk®. 

10. Give the journal entries for the following. Pass the 

journals for the issue of debentures when terms of 

redemption is given. 

 (a) Issue of Rs. 1,00,000-9% debentures at par 

and redeemable at par 

 (b) Issue of Rs. 1,00,000-9% debentures at 

premium of 5%, but redeemable at par 

 (c) Issue of Rs. 1,00,000-9% debentures at a 

discount of 5%, but redeemable at par 

 (d) Issue of Rs. 1,00,000–9% debentures at par, 

but repayable at a premium of 5% 

 (e) Issue of Rs. 1,00,000-9% debentures at a 

discount of 5%, but redeemable at a premium 

of 5%. 



 UG–208 6

 PhÜmk¨ £zvμ[PÒ «m¦ ö\´ÁuØPõP •uÀ Pmh 

£vÄPÒ ö\´²®  uPÀPÒ R÷Ç uμ¨£kQßÓÚ. 

 (A) 1,00,000 ¹£õ´. ö£Ö©õÚ PhÜmk¨ 

£zvμ[PÒ öÁÎ±k ö\´uÀ–9% Ámi ÂQu®–

•P©v¨¤À öÁÎ±k •P©v¨¤÷»÷¯ «m¦ 

ö\´uÀ 

 (B) 1,00,000 ¹£õ´ ö£Ö©õÚ PhÜmk¨ £zvμ[PÒ 

öÁÎ±k ö\´uÀ–9% Ámi ÂQu®–5% AvP 

Âø»°À öÁÎ°h¨£kQÓx–•P©v¨¤÷»÷¯ 

«m¦ ö\´¯¨£kQÓx 

 (C) 1,00,000 ¹£õ´ ö£Ö©õÚ PhÜmk¨ £zvμ[PÒ 

öÁÎ±k ö\´uÀ–9% Ámi ÂQu®–5% 

uÒÐ£i°À öÁÎ°h¨£kQÓx –

•P©v¨¤÷»÷¯ «m¦ ö\´¯¨£kQÓx 

 (D) 1,00,000 ¹£õ´ ö£Ö©õÚ PhÜmk¨ £zvμ[PÒ 

öÁÎ±k ö\´uÀ–9% Ámi ÂQu®–

•P©v¨¤À öÁÎ±k ö\´¯¨£kQÓx–5% 

AvP Âø»°À «m¦ ö\´¯¨£kQÓx 

 (E) 1,00,000 ¹£õ´ ö£Ö©õÚ PhÜmk¨ £zvμ[PÒ 

öÁÎ±k ö\´uÀ–9% Ámi ÂQu®–5% 

uÒÐ£i°À öÁÎ°h¨£kQÓx–5% AvP 

Âø»°À «m¦ ö\´¯¨£kQÓx. 

  •uÀPmh £vÄPÒ ö\´P. (Journal entries). 
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11. How would you prepare final accounts for banking 
companies? 

 Á[Q {ÖÁÚ[PÎß CÖvU PnUSPøÍ GÆÁõÖ 

u¯õº ö\´ÃºPÒ? 

12. What are the differences between hire purchase 
and instalments? 

 uÁøn •øÓU öPõÒ•uÀ  GßÓõÀ GßÚ?  
(hire purchase) Ax Instalment  GÚ¨£k® uÁøn 

•øÓ°À GÆÁõÖ ÷ÁÖ£kQÓx? 

 

—————— 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

AUDITING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What is internal check and internal control? 

 APa^μõ´Ä ©ØÖ® APU Pmk£õk GßÓõÀ GßÚ? 

2. How will you verify and vouch the purchase 
returns? 

 öPõÒ•uÀ v¸®¦u¼ß \›£õº¨¦ ©ØÖ® \õßÓõ´Ä 

GÆÁõÖ ÷©ØöPõÒÍ¨£kQÓx? 

3. What are the auditor’s duties regarding the in we 
of shakes at premium? 

 £[S •øÚ©® \›£õº¨¦u¼À uoUøP¯õÍ›ß 

Phø©PÒ ¯õøÁ? 

 UG-209 BCO-34
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4. Distinguish between audit and investigation. 

 uoUøP ©ØÖ® ¦»Úõ´Ä ÷ÁÖ£kzxP. 

5. What are the causes of depreciation? 

 ÷u´©õÚzvß £À÷ÁÖ Põμn[PÒ ¯õøÁ? 

SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. “An auditor is a watchdog and not a blood hound”. 
Critically examine this 

7.  statement. 

 “uoUøP¯õÍº PõÁØ SÊ BÚõÀ ¤øÇ ÷|õUPõÍº 

AÀ»” CUTØøÓ Bμõ´P. 

8. What are the qualities of an auditor? 

 uoUøP¯õÍ›ß £s¦PÒ ¯õøÁ? 

9. What are the essential characteristics of good 
system of internal check? 

 |À» APa^μõ´Âß •UQ¯ £s¦PÒ ¯õøÁ? 

10. Discuss the precautions to be taken by an auditor 
which vouching. 

 \õßÓõ´Âß ÷£õx uoUøP¯õÍº ÷©ØöPõÒÍ 

÷Ási¯ PÁÚU SÔ¨¦PøÍ²® 

•ßöÚaö\›UøPPøÍ²® SÔ¨¤kP. 
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11. Define Depreciation. What are the various 
methods of providing Depreciation? 

 ÷u´©õÚ® Áøμ¯Ö, ÷u´©õÚzvß £À÷ÁÖ 

ÁøPPøÍ TÖP. 

12. What are divisible profit? What  should be the 
guiding principles in determining the divisible 
profit? 

 ÁS£k® C»õ£[PÒ ¯õøÁ? Aøu PnUQk® 

÷Põm£õkPøÍ TÖP. 

13. Give a note on the civil liabilities of company 
auditor. 

 {Ö© uoUøP¯õÍ›ß  Siø© ö£õÖ¨¦PøÍ £ØÔ 

ÂÁ›. 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

INSURANCE 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. Write a note on : 

 (a) insurance interest 

 (b) utmost good.faith 

 ]Ö SÔ¨¦ ÁøμP : 

 (A) Põ¨¥k Ámi 

 (B) |Àö»sn® 

2. What are the policy conditions in a life policy? 

 B²Ò Põ¨¥miß {£¢uøÚPÒ ¯õøÁ? 

 UG–210 BCO–35
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3. What is surplus for an insurer? How is it 
distributed among policy holder and shareholder? 

 Põ¨¥mhõÍ›ß E£› GßÓõÀ GßÚ? Ax  

GÆÁõÖ Põ¨¥mhõÍºPÐUS® £[SuõμºPÐUS® 

ÁÇ[P¨£kQÓx? 

4. Explain the contents of Marine Insurance policy. 

 P¨£À Põ¨¥miß EÒÍhUP[PøÍ GÊxP. 

5. Explain hazard types of fire insurance. State its 
significance. 

 w Põ¨¥miß £À÷ÁÖ ÁøP¯õÚ w[SPøÍ ÂÁ›. 

AÁØÔß •UQ¯zxÁzøu TÖP. 

PART B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Discuss the fundamental principles of general 
insurance. 

 ö£õx Põ¨¥miß Ai¨£øh öPõÒøPPøÍ ÂÁ›UP. 

7. Briefly explain the origin and development of 
Insurance sector in India. 

 C¢v¯ Põ¨¥mkz xøÓ°ß ÷uõØÓzøu²® 

ÁÍºa]ø¯²® ÂÁ›. 
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8. Explain the procedure for insuring a life insurance 
policy. 

 B²Ò Põ¨¥k ÁÇ[Su¼ß |øh•øÓPøÍ ÂÍUSP. 

9. Discuss the steps involved in settlement of claim 
in Marine Insurance business. 

 P¨£À Põ¨¥mkz vmhzv¾ÒÍ Dk 

\›ö\´uÀPÐUPõÚ ÁÈPøÍ ÂÍUSP. 

10. Enumerate the features of Marine policy. 

 P¨£À Põ¨¥kz vmhzvß A®\[PøÍ ÂÁ›UP. 

11. Describe the classification of contracts of 
Insurance. Differentiate between Marine and  
Non-Marine Insurance. 

 Põ¨¥mk J¨£¢uzvß ÁøPPøÍ TÖP. P¨£À Põ¨¥k 

©ØÖ® ¤Ó Põ¨¥kPøÍ ÷ÁÖ£kzxP. 

12. Enumerate the contribution and average clause 
under Fire insurance. 

 w Põ¨¥miß £[PÎ¨¦ •øÓPøÍ²® \μõ\› 

ÂvPøÍ²® ÂÍUSP. 

––––––––––––– 




